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1) Jim and Karen are competing for first place in their grade 8 class. Karen
receives 23.5 out of 25 on her math test and Jim receives 29.5 out of 32/
Who received the higher mark?
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2) The o make a pen i The company sells the pen for 450% of

its cost to make. How much profit do they make off of T pen?
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3) 26% of a number is 93.6, what is that number?
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Finding the Percent Increase or Percent Decrease
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Percent Increase = Amount of Increase x 100%
Original Amount

Percent Decrease = Amount of Decrease x 100%
Original Amount
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(Amount of Increase = New Price - Original Price)

(Amount of Decrease = Original Price - NewPrice)

Example 4

ORI
(a) The price of a carton of milk in the school cafeteria increased fro m@ to $1.25.

What was the percent increase in price? ( yn (rease)

(b) The price of a green salad decreased from 0 $1.95. What was the percent

decrease in price? (_ %% Decgeost)
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